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y := e+; snd y let y = e+ in snd y (let y = [·] in snd y)hhe+ii

let y1 = N1 in ...let yn = Nn in let y = N in snd y where e+ = let y1 = N1 in ...let yn = Nn inN

` hhe+ii : � x : A+.B+ y ` snd y : B+[fst y/x]

` (let y = [·] in snd y)hhe+ii : B+[(fst e)+/x]

y ` snd y : B+[fst y/x]

f : B+[(fst e)+/x], y ` f (snd y) : B0

...

` let y1 = N1 in . . . let yn = Nn in . . . : B0

` hhe+ii : � x : A+.B+ y := hhe+ii ` snd y : B+[fst y/x]

` (let y = [·] in snd y)hhe+ii : B+[(fst e)+/x]
� ` e : A �, x = e ` e0 : B

� ` let x = e in e0 : B[e/x]

y := hhe+ii ` B+[fst y/x] ⌘ B+[(fst e)+/x]

A÷ = (�� :?. (A+! � )! � )

� ` e : �� :?. (A! � )! � � ` B :? �, x = e A id ` e0 : B

� ` e @ B (� x : A. e0) : B
[T�C���]

Je @ B (� x : A. e0)K def
= let x = (JeK JAK id) : JAK in Je0K

�, x = e : A ` e 0 : B

� ` let x = e :Ain e

0 : B[e/x]
[L��]

� ` (e1 B (� x : A. e2)) ⌘ (� x : A. e2) (e1 A id)
[⌘�C���]

Γ ` e : Σ x : A.B

Γ ` snd e : B[fst e/x]
[S��]

T������. If Γ ` e : A then Γ+ ` e+ : A+

Have y := e+; snd y : B+[fst y/x]
But need to show that y := e+; snd y : B+[(fst e)+/x]
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